

# R M M

ROMANIAN MATHEMATICAL MAGAZINE  
www.ssmrmh.ro



**Find:**

$$\Omega = \int_0^{-1} \left( \sum_{n=1}^{\infty} \left( \frac{1}{n} \left( \sum_{k=1}^{\infty} \frac{x^k}{k} - \log \left( \frac{1}{1-x} \right) \right) \right) \right) dx$$

*Proposed by Mohamed Arahman Jama-Somalia*

*Solution by Mokhtar Khassani-Mostaganem-Algerie*

$$\begin{aligned} \Omega &= \int_0^{-1} \left( \sum_{n=1}^{+\infty} \left( \frac{1}{n} \left( \sum_{k=1}^n \frac{x^k}{k} - \log \left( \frac{1}{1-x} \right) \right) \right) \right) dx = \\ &= \int_0^{-1} \left( \sum_{n=1}^{+\infty} \left( \frac{1}{n} \left( \sum_{k=1}^n \int_0^x z^k dz - \log \left( \frac{1}{1-x} \right) \right) \right) \right) dx \\ &= \int_0^{-1} \left( \sum_{n=1}^{+\infty} \left( \frac{1}{n} \left( \int_0^x \frac{1-z^n}{1-z} dz + \log(1-x) \right) \right) \right) dx = \end{aligned}$$

# R M M

ROMANIAN MATHEMATICAL MAGAZINE

[www.ssmrmh.ro](http://www.ssmrmh.ro)

$$\begin{aligned} &= \int_0^{-1} \left( \sum_{n=1}^{+\infty} \left( \frac{1}{n} \left( \int_0^x \frac{z^n}{z-1} dz \right) \right) \right) dx \\ &= \int_0^{-1} \left( \int_0^x \frac{1}{z-1} \sum_{n=1}^{+\infty} \frac{z^n}{n} dz \right) dx = \int_0^{-1} \left( - \int_0^x \frac{\log(1-z)}{z-1} dz \right) dx = \\ &= \frac{1}{2} \int_{-1}^0 \log^2(1-x) dx = \frac{1}{2} \int_1^2 \log^2 x dx \\ &= \frac{1}{2} \{x \log^2 x - 2(x \log x - x)\}_1^2 = (\log 2 - 1)^2 \Rightarrow \Omega = (1 - \log 2)^2 \end{aligned}$$